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BEIDEAWD A

B ECEIIREIIIEFEANEILL),

D 37kg 900g =| 37900 g
@ 50kg 100g =| 50100 g
@ 100t =| 100000 kg

@ 9220kg =| 9 t 220 kg
® 16t =| 16000 kg

® kg 940g = 1940 g
@ 3t4kg = 3004 kg
® 380000g = 380 kg
@ 14300g = | l4kg 300 g
(© 30000kg = 30 t
@ 70kg =| 70000 g

@ 71t900kg =| 71900 kg

/24

® 81000kg = 81 t
@ I1t5kg = 1005 kg
®1100g = | kg 100 g
|00kg = | 100000 g

@ 15t500kg = 15500 kg
6kg 500g = 6500 g
| 70000kg = 170 t
@ 104kg =| 104000 g

@ 70t =| 70000 kg

@ 1009g = | kg 9 g
@ 5t40kg = 5040 kg
@ 850kg = | 850000 g




